N \Tdm&sz@}s A, Ao If

8.2 The Pythagorean Theorem and Its Cthe_rse

Target: Ugvﬁ ~the W hﬁﬁ&? £aa, * ”f’@
'ﬁmé +he migsing & side of a - nghe.

1 Words In a right iriangle, the sum of the squares of
the lengths of the legs is equal to the square
of the length of the hypotenuse. - et

& Symbals " If A ABCis aright mangle with right angle G,
| then a2 + b* = ¢2,
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A4S | T2
6,810 " 10,24,26 16,30,34 14,48,50 |
8,12,15 15, 36,39 24, 46, 51 21,72,75 |
3% 4x, 5x 5%, 12x,13x By 15% 17 T 24x 25 |

Damon is locked out of his house. The only open
window is on the second floor which is 12 feét
above the ground. He needs to borrow a ladder
from his neighbor. If he must place the ladder

5 feet from the house to avoid some bushes,
what length of ladder does Damon need?

A 7 feet :
B 11 feet D 17 feet e
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Note: Not drawn to scale.
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3. According to your company’s safety
regulations, the distance from the base
of a ladder to a wall that it leans against |
should be at least %IF;%M o
" ladder”s total length. You are given a \
20-toot ladder to place against a wall at

a job site. If vou follow the company’s
safety regulations, what is the maximum .
distance x up the wall the Iadder will

reach, to the nearest tenth? X 2 +5§ N Q
F 12 feet H 20.6 feet xﬂ?‘“} 4% &&m Note: h}ot drawn scale,

CC 194 ket 3§ 30.6 feet -as 88  Tlaw
p =y

4,
MULTIPLE CHBICE The mainaaig_g{a boat is sho
What is the length, in feet, of LN? '

A 525 C 723
B 65 D 75
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